MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

Designer Products LL.C dba Cambek Designer Doors
702 Troy Street
River Falls, WI 54022

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product
Control Section to be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction
(AHD).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section
(In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this
product or material tested for quality assurance purposes. If this product or material fails to perform in the accepted
manner, the manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or
suspend the use of such product or material within their jurisdiction. RER reserves the right to revoke this acceptance,
if it is determined by Miami-Dade County Product Control Section that this product or material fails to meet the
requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Models H-3 / H-4 (Glazed) Insulated Wood Sectional Garage Door up to 18°-0”
Wide x 8°-0” High

APPROVAL DOCUMENT: Drawing No. 1618, titled “18 ft. Wide Hurricane Impact Wood Garage Doors”,
sheets 1 through 7 of 7, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated 10/21/2008, with last
revision D1 dated 11/13/2018, signed and sealed by Warren W. Schaefer, P.E., bearing the Miami-Dade County
Product Control revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model/series
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation instruction
drawing reference number, approval number (NOA), the applicable test standards, and the statement reading ‘Miami-
Dade County Product Control Approved’ is to be located on the door’s side track, bottom angle, or inner surface of a
panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change in the
applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the materials,
use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for sales, advertising or
any other purposes shall automatically terminate this NOA. Failure to comply with any section of this NOA shall be cause for
termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the expiration
date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and shall be
available for inspection at the job site at the request of the Building Official. An original signed and sealed company letter from
Designer Doors, Inc. is required, proving that the Models H-3 / H-4 18°-0” Wide Wood Sectional Garage Door was purchased from
them in order for this NOA to be valid on any job.

This NOA revises NOA #17-0712.09 and consists of this page 1 and evidence pages E-1, E-2 and E-3, as well as
approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 18-1128.03

Expiration Date: March 18, 2020
Approval Date: January 10, 2019
Page 1

MIAMI-DADE COUNTY
APPROVED




Designer Products 1.1.C dba Cambek Designer Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. Evidence submitted under previous NOAs

A. DRAWINGS “Submitted under NOA # 14-1118.17”
1. Drawing No. 1618, titled “18” Wide Hurricane Impact Wood Garage Doors”, sheets 1 through
7 of 7, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated 10/21/2008, with
last revision B1 dated 11/12/2014, signed and sealed by Warren W. Schaefer, P.E.

B. TESTS “Submitted under NOA # 10-1119.02”
1. Test reports on 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94

along with marked-up drawings and installation diagram on a Series/Model H2/4 Section,
glazed garage door, prepared by Architectural Testing, Inc., Test Report No. 94833.01-201-
18, dated 01/13/2010, signed and sealed by Joseph A. Reed, P.E.

2. Addendum letter to Test Reports No. 8§7472.01-201-18 and 87473.01-201-18 on Forced Entry
Test per FBC, FBC 2411 3.2.1, TAS 202-94, prepared by Architectural Testing, Inc., dated
08/18/2009, signed and sealed by Joseph A. Reed, P.E.

“Submitted under NOA # 08-1224.07”
3. Test reports on 1) Uniform Static Air Pressure Test Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of a Double Wide Hurricane Impact
Un-Glazed and Glazed Garage Doors, prepared by Hurricane Test Laboratory, LLC, Test
Report No. G507-0402-08, dated 08/21/2008, signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS: “Submitted under NOA # 08-1224.07”
1. Anchoring and stress calculations, prepared by W.W. Schaefer Engineering & Consulting,
P.A,, dated 12/17/2008, signed and sealed by Warren W. Schaefer, P.E.

D. QUALITY ASSURANCE

1. Miami-Dade Department of Regulatory and Economic Resources (RER)
E. MATERIAL CERTIFICATIONS “Submitted under NOA # 14-1118.17”
1. Notice of Acceptance No. 11-0624.01, issued to E.I. DuPont DE Nemours & Co., Inc. for
their “DuPont Butacite® PVB Interlayer” approved on 09/08/2011, expiring on 12/11/2016.
2. Notice of Acceptance No. 11-0325.05 issued to Solutia, Inc. for their “Saflex IIIG” approved

on 05/05/2011, expiring on 05/21/2016.

Product Control Examiner

NOA No. 18-1128.03

Expiration Date: March 18, 2020
Approval Date: January 10, 2019



Desisner Products LLC dba Cambek Designer Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

F. STATEMENTS “Submitted under NOA # 14-1118.17”
1. Statement letter of code conformance to 2010 and 5% edition (2014) FBC issued by W.W.
Schaefer Engineering & Consulting, P.A., dated 04/10/2014, signed and sealed by Warren W.
Schaefer, P.E.
2. Statement letter of no financial interest, issued by W.W. Schaefer Engineering & Consulting,
P.A., dated 11/12/2014, signed and sealed by Warren W. Schaefer, P.E.
3. Asset purchase agreement dated 04/25/2014.

2. Evidence submitted under NOA # 17-0712.09

A. DRAWINGS
1. Drawing No. 1618, titled “18” Wide Hurricane Impact Wood Garage Doors”, sheets 1 through
7 of 7, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated 10/21/2008, with
last revision C1 dated 07/06/2017, signed and sealed by Warren W. Schaefer, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 16-1117.01, issued to Kuraray America, Inc. for their “Trosifol
Ultraclear, Clear and Color PVB Glass Interlayers approved on 01/19/2017, expiring on
07/08/2019.
2. Notice of Acceptance No. 15-1201.11, issued to Eastman Chemical Company (MA) for their
“Saflex Clear and Color Glass Interlayers” approved on 03/17/2016, expiring on 05/21/2021.

F. STATEMENTS
1. Statement letter of code conformance to the 6% Edition (2017) FBC issued by W.W. Schaefer
Engineering & Consulting, P.A., dated 07/06/2017, signed and sealed by Warren W. Schaefer,
P.E.

A=

pifezfzeid

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 18-1128.03

Expiration Date: March 18,2020
Approval Date: January 10, 2019



Designer Products LLC dba Cambek Designer Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. New evidence submitted

A. DRAWINGS
1. Drawing No. 1618, titled “18 ft. Wide Hurricane Impact Wood Garage Doors”, sheets
1 through 7 of 7, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated
10/21/2008, with last revision D1 dated 11/13/2018, signed and sealed by Warren W.
Schaefer, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Asset purchase agreement dated 11/08/2017.

- ;;Lz'// Y j
£ 5 1E%

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 18-1128.03

Expiration Date: March 18,2020
Approval Date: January 10, 2019



9 124 SEE STORM POST TOP END INSTALLATION SPRING & MECHANISM AS sT’SE?;/.%SS*.’“?LTSf MAY NOT BE USED FOR THE ASSEMBLY. || - wha | WwS
’ AND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY B :
@ DETAIL ON SHEET 5 b REQD TO OPERATE DOOR [THEY BE USED FOR RA%OYI\?AL AND/OR LOCAL APPROVAL % DATiFE/m/OB
) 1 ) g'IEAT’%bl‘)Y [)Pr?OT‘))—%UE%E T)%I\ stggUCED 8Y THE MANUFACTURER
! 31/2"+ ‘ \ Jelelele
<[2]91812
‘ ( SISISISS
I S| N T T | N— I ‘ GENERAL NOTES: Nelelele
= T f 1. THESE GARAGE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR S HIEIEH
=l |- MAX. 25 3/8" DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN PRESSURE
MAX.——-I-‘—SZ 1/2" MAX. . 0 30 TABLE(S). ' -
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & S PIHELE
INSTALLED TO TRANSFER WIND LOADS O THE STRUGTURE. AHHE 3
5 ‘ : — 3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & H I
AN z SHALL NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECFIED Ancror  ||E] 3131513
MAX. 18" 2 EMBED TO BASE MATERIL SHALL BE BEYOND WALL FINISH OR STUCCO. 2lelz |z
5 SEE STORM_POST INTERMEDIATE | SEE SLIDE LOCK < . 4, THE DETALS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & HHBHE
3/ O BRACKET DETAIL ON SHEET 5  DETAIL ON SHEET & TO 22 3/8" T PROPOSED FOR IMPACT, CYCLIC & UNIFORM STATIC AR PRESSURE TESTNG N 2 gle|s|g
SEE EDGE—. % 8 > & CONFORMANCE WITH THE FLORIDA BUILDING CODE PROTOCALS TAS—207, 202 & 203 FOR gl3|51515
HINGE X /1T LN 2 S LARGE MISSILE IMPACT GARAGE DOORS. HHEE
oN N ; ) Y a 5. THESE GARAGE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND MEET =
DETAIL ON " se THE REQUIREMENTS OF THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH VELOCITY HEEES
SHEET 5 4 4 1 SEE MIDDLE HINGE '[- MAX. 18" =2 HURRICANE ZONES (HVHZ).
- DETAIL ON SHEET 5| I TO 22 3/8" = 5. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE GARAGE DOORS.
5 7. ALL ANCHORS SECURING DOORS TO PRESSURE TREATED BUCKS OR WOOD FRAMING %)
S SHALL BE CAPABLE OF RESISTING CORROSION CAUSED 8Y THE PRESSURE TREATING o&
CHEMICALS IN THE WOOD. 88 «
| i . 8. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING P SN
it~ MAX. 25 3/8 THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND - o
(HiE =1 70 29 1/27 VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH THE FLORIDA BUILDING 2l SS9
- X CODE, A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE APPLIED WHEN USED IN o 16EHYS
ks Ay I =i i CONJUNCTION WITH LOAD COMBINATIONS SPECIFIED IN SECTION 2.0 OF THE ASCE 7 Q128,59
\ ; . STANDARD. o
b _/ Z | N /\ ' ID : L] 12 9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS W gg e
SEE DETAL 3 I__ YL P __[ SEE STORM POST BOTTOM PRODUCT. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED FOR WOOD SCREW g a2 : 2: N
ON SHEET 4 END INSTALLATION DETAIL 10. Al WOOD MEMBERS OF DOORS THAT MAY POSSIBLY COME INTO CONTACT WITH < |Buwowo
ON SHEET 5 | MASONRY OR CONCRETE SUBSTRATES, ARE SUBJECT TO MOISTURE &/OR ARE SUBJECT TO o5~ 3
11/2" 216" MAX. DOOR WIDTH —1 1/2" THE OUTSIDE ENVIRONMENT SHALL BE OF AN APPROVED DURABLE SPECIES OR BE TREATED 82
| INTERIO R. FLEVATION | IN AN APPROVED METHOD WITH AN APPROVED PRESERVATVE PER FBC SECTION 2326. 3 ns =
N o
» » . g e _8
MODEL "H—3" FULLY WOOD PANELED GARAGE DOOR ALLOWABLE DESIGN PRESSURE N
» ¥’ » o
SCALE: 3/8" = 1'-0 (ALL DOOR CONDITIONS) g 2
(FOR STORED STORM POST LOCATION, SEE ELEVATION BELOW) +48/"65 PSF > 5
B w |3
= =
9 i e
3 I =1 =zo
e Z
Y frd rx® o
2| s .3
| ﬁ*»\J (4 D.L.O. CONDITIONS SHOWN. MORE THAN 4 T zeg?’;
D.LO.’S MAY BE PLACED ACCROSS THE DOOR IN Bl 2<22
2 THE TOP OR TOP MIDDLE SECTION OF THE DOOR) ES :n-' Egz
1 o . - 35 ¢
- 7 = il
— | Bg o5
I\ o .
= ' Lo |, 25782
—_— 1 Vx NOTE: ALL REMOVABLE STORM POST F |zo2 gie
& S CONNECTORS SHALL BE LINKED TO THE 2 5;8 z
e e | I g e |
| N S —— pOOR OR e DOOR TRACKS SUcH THAT SURL -7
*
3 F - 0 5 s | = WHEN REMOVED, THEY WILL NOT BE LOST %\ﬁ;;g K 45 o
i I . — ———— il OR MISPLACED & WILL BE STORED IN AN | S &SR o
TN ; ii ACCESSIBLE LOCATION. SR o [z N2 z8
i ] SwiP T |2k o T
= o . <+ < H x
¥ 1 =W+ WO : 3g
E ﬂ - ; =D . o 0
ijx i i | 2l 4 PRODUCT REVISED =235 2 |E ,\,{9:% = My
i ! ' ! ' ID I as complying with the Florida o o
| 216" MAX. DOOR WIDTH | NoaNs. *™ 418.1128.03 K
SHOWN 1N STORED i ”INTERIOR ELEVATION; Expiration Date 03/18/2020
l\_O CATION) MODEL "H—4" PARTIALLY GIAZED GARAGE DOOCR By 4 —
SCALE: 3/8” = 1’-0" Miami-Dade Product Control SHEET NO.
(FOR DETAIL NOT SHOWN, SEE FULLY PANELED GARAGE DOOR ELEVATION ABOVE) " 1 o




216" MAX. DOOR WIDTH
— [—51/4 — 4 1/2" 5 1/4" —
| - |
I
MAX.
25%/8" . 1_ 5 1/4”
e r 41/2
= 5
5 1
e o FACE GRAIN TRIM BOARDS
8 X S >
T MAX.
25 3/8"
TO
29 1/2 ;
1 Ls 1ye
EXTERIOR ELEVATION:
RAISED PANEL GARAGE DOOR
SCALE: 3/8" = 1'-0"
(NON—GLAZED DOOR SHOWN, GLAZED DOOR IS SIMILAR)
216" MAX. DOOR WIDTH
; —f {—5 1/4" 5 1/4" 5 1/4" —
stg);y \\ \\ \\
70
30"
2 \\
Y omax. 187
o T0 22 3/8" \ \
S A \
Q i \>
3 \\\ \\\ ;
2
S \\

\5/8" MIN. THK.

f DOOR FACE~/

L 8 1/2"

EXTERIOR ELEVATION;
V—GROOVE PANEL GARAGE DOOR
SCALE: 3/8" = 1’0"

("V—GROOVE MAY RUN IN ANY DIRECTION)
(NON—GLAZED DOOR SHOWN, GLAZED DOOR IS SIMILAR)

1 3/8" THK. WOOD FRAME MEMBERS (5 1/4”
WIDE AT VERTICAL PERIMETERS &

216" MAX. DOOR WIDTH

DRAWN BrY:
W.RM

CHECKED BY:
W.W.S.

1~32

DATE:
10/21/08

INTERMEDIATES; 5 1/8” WIDE AT TOP &
BOTTOM HORIZONTALS; 2 1/2" WIDE EACH

25 3/8"
SIDE OF HORIZONTAL PANEL SEAMS) ™
30"
SMM EXTERIOR GRADE PLYWOOD (INTERIOR =
FACE & EXTERIOR FACE) SECURED T0 THE & |
PANEL WITH URETHANE ADHESIVE & O 18
STAPLES T 02y
-1 3/8" POLYSTYRENE INSULATION g JJ
stN 3/4” THK. RAISED 5 MAX418, e
PANEL WITH 3/4” THK. 18
FACE BoARDS SECURED S o2 \DOOR FACE
TO PLYWOOD WITH |
URETHANE ADHESIVE & -
STAPLES. 2%
TS 2” BLENDED
TYP. RAISED PANEL DETAIL /7| " BoTTom BoARD
SCALE: N.TS.

MAX.

PRODUCT REVISED

as complying with the Florida
Building Code

NOA-No. 18-1128.03

Expiration e 03/18/2020

By

Mlaml—Datfe Product Control

WOOD TRIM
MEMBERS (5 1/4”
WIDE AT VERTICAL
PERIMETERS &
HORIZONTAL TOP; 8
1/2" WIDE AT
HORIZONTAL
BOTTOM;)

SMM EXTERIOR GRADE PLYWOOD (INTERIOR FACE & EXTERIOR FACE)
SECURED TO THE PANEL WITH URETHANE ADHESIVE & STAPLES

1 3/8" POLYSTYRENE INSULATION

MIN. 9/16" THK. V—GROOVE WOOD WITH MIN.
3" WIDE FACE REVEAL. SECURED TO PLYWOOD
WITH URETHANE ADHESIVE & STAPLES.

TYP. V-GROOVE PANEL DETAIL

SCALE: N.T.S.

EXTERIOR ELFVATION:
FLAT PANElL GARAGE DOOR
SCALE: 3/8" = 1'=0"
(NON—GLAZED DOOR SHOWN, GLAZED DOOR IS SIMILAR)

1 3/8" THK. WOOD FRAME MEMBERS (5 1/4” WIDE
AT VERTICAL PERIMETERS & INTERMEDIATES; 5 1/8"
WIDE AT TOP & BOTTOM HORIZONTALS; 2 1/2” WIDE
EACH SIDE OF HORIZONTAL PANEL SEAMS)

5MM EXTERIOR GRADE PLYWOOD (INTERIOR FACE
& EXTERIOR FACE) SECURED TO THE PANEL
WITH URETHANE ADHESIVE & STAPLES

|_—1 3/8" POLYSTYRENE INSULATION

_—— MIN. 1/2” THK. PRIMED MDO PLYWOOD OR
EXTERIOR GRADE MDF SECURED TO
PLYWOOD WITH URETHANE ADHESIVE &
STAPLES

TYP. FLAT PANEL DETAIL
SCALE: N.TS.

DATE

8Y

REVISION DESCRIPTION

NO.

MANUFACTURER DESIGNER PRODUCTS, LLC

dba CAMBEK DESIGNER DOORS

702 TROY ST.

RIVER FALLS, WI 54022
800-241-0525

1 3/8” THK. WOOD FRAME MEMBERS (5 1/4” WIDE AT VERTICAL
PERIMETERS & INTERMEDIATES; 5 1/8" WIDE AT TOP & BOTTOM
HORIZONTALS; 2 1/2" WIDE EACH SIDE OF HORIZONTAL PANEL SEAMS)

13588814

18 FT. WIDE HURRICANE IMPACT WOOD GARAGE DOORS

W. W. SCHAEFER ENGINEERING

RAWING TITLE
CONSULTANTS

& CONSULTING, P.A. (CA 6809)
7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE; 561-744-3424

B

SRAWING NO- TR

1618

3| WARRENN. SCHAEFER, P.E.
R /'%N NO. 44138

7

SHEET NO.

2 oF

/




DRAWN BY:
W.RM.

CHECKED BY:
WMW.S.

, SEE INSTALLATION DETAILS ON SHEET 6 I =
-_EXTERIOR - 1=16 10/21/08
SEE SECTION CONFIGURATIONS ON SHEET 2 - ‘ NN
FOR MAKE-UP OF PANELS 5 1/4" (TYP. ALL VERTICALS) / \ =
L ‘ i S N [ | °
5 X // -
<
/D SECTION /7 \_@ ~_ -
. S
STORM POST (REF.) SCALE: 1/8 FULL \3/ STORM POST (REF.) £
EXTERIOR —~ ) (10 (19) 2
<EE DETAL 2 17/16 ~~—— [EXTERIOR] ~ i
] EXTERIOR ‘
ON SHEET 4 \ Qy 17/18” N =
: X SEE DETAIL 2— ] L /
—H @’YI \ I ON SHEET 4 ~ 0
' . ! APPROX. R = 14 3/4" 3 - S8 o
RE HSH | APPROX. R = 14 3/4” @a g
( Al APPROX. R = 14 3/4” | 4 3 ET A
b Oz n
. il I . . Q oD =0
11 247 MAX. | :ﬁl” e SL%S;__'
e 17 l} TWO(2) BOLTS AT TOP & |E8ETDY,
( ) MAX. i 25)LOCATION; ONE(1) AT B lexazl
: |1 e Il|/_@ 10" EACH OTHER LOCATION g luko=-3
I N—seE pETAL 1 4 1l o |82 &°
lk }l ON SHEET 4 e o Siao =z
’ l N8 I l = oo
. SEE DETAL 1 \ | s B
g ) Bl N seer 4 18 1/2" MAX. |I|/—@ 5E T
Al < |5
) 0. jx
i d
<€
5" (TYP. B, — — [l Y F—
ALL SEAMS) :>_ | : S| o3
I 5" (TYP. | 24 1/2" MAX gl 28 ,
= ALL SEAMS) 18 1/2" MAX. | } Mif(—SOZC 2 | 5.3
| Lo w| 3753
-3 Zﬁfr‘)
SEE SECTION =~ /_@ S| 55t
CONFIGURATIONS 17 —t | = 85T
ON SHEET 2 SEE SECTION —_| . v E ]| 52z35
FOR MAKE-UP CONFIGURATIONS e ’ o | <533
OF PANELS ON SHEET 2 RNE 17" VAX s 2 2o 982
FOR MAKE-UP ™ ‘ || ’ £z 85"
OF PANELS \ \_@ 1 /—@ 24” MAX. =28 %
A I EEL
] ’I __() U -
— ..aua.b. ~F e o
17" 7] T 17" =25" MAX & 200\ s |88
“ 12 1/4 ., [ 2 |Ee
T | 10 ! 10" RN
5 1/8" 5 | [ - | %2
N N PN PRODUCT REVISED AR
51/8 —j 1 3/8 —t as complying with the Florida éq‘\
Building Code 4
SECTION /57 SECTION /& SECTION  ,oN  NOANo. _ 18-1128.03 Yy 2
SCALE: 1/8 FULL \3/ SCALE: 1/8 FULL \3/ SCALE: 1/8 FULL \3/ Expiration Dage 03/18/2020 %, ,g,m”“mz% nqmé»%csm. RBL
(FULLY WOOD DOOR) (GLAZED DOOR) By A 1210
Miami-Dadé Product Control 3 oF 7




|5 7/8"
MIN.
| g EXTERIOR , | SEE GLAZING \/ -
I T V. —— 6 1/8" MIN. —— | DETAIL ON ;
MIN. TRIM BOARD TO 47/8" TRIM BOARD TO EXTERIOR i SHEET 5 ~J /;
MIN. MATCH EXTERIOR EXTERIOR
MATCH EXTERIOR N 1\
PANELING PANELING ) ~—F
SEE GLAZING - )
vevBeR DETAL ON SHEET 5 ; AN N STRUT IS
/ 1 2M1[<2 < D\\L 4 1/2" — i S\L/pé(f:qEDHWGE
N >/\ 1 r.l N > AN \_‘ 2 1/2" _I %l AS SHOWN
] \'1 4 / Jo VO f = /O SecTion OF
SEE — < > > \y\ / | l \1 | ) 0 DOOR.
INSTALLATION > < —/ N — > 2 12N ><D/(%)j 2 1/2 il
DETAILS ON INTERIOR FRAME — SMM EXTERIOR J ] ™
SHEET 6 FOR MEMBER PLYWOOD (2 LAYERS - ™G < ,\@
DETAL Of | GLUED & STAPLED S| &) I T |
| TO FRAME) »— | /‘@ .J’
INSTALLATION \‘ \LSTRUT BEYOND (REF) ,
5MM EXTERIOR PLYWOOD (2 LAYERS 1
A GLUED & STAPLED TO FRAME) SECTION &\ ol o ||
SECTION /B SCALE: 1/4 FULL \&/ ‘1 | paneL [ ! } PANEL
SCALE: 1/4 FuLL \&J 5 : (REF.) o, (REF.)

5 1/8" —=

EXTERIOR N

20

N

(

N4

DETAIL 2

[ —
( SEE GLAZIN —/\
; DETAIL ON i
; SHEET 5
f (REF.) EXTERIOR
—~a— A

(UN—GLAZED CONDITION)

<
l
G

.
[~
) =

DETAIL 2

(GLAZED CONDITION)

-<—-—A__\/\_‘_'

2

<
ST e g e e
e e e N e
]

i

DETAIL 1

(UN—GLAZED CONDITION)

.

-
PANEL P
(REF.) ||
4 A

e—— A

| 20 >
[
Q/
| 4
| L (@) N
}|© O @
l
I
| l©"/©/
& | } L®
¢ \ H@ o O
I
]I{’o oM ‘
l o ollo
]
DETAIL 3

DETAIL 1

(GLAZED CONDITION)

PRODUCT REVISED

as complying with the Florida

Building Code
NOA-No.

18-1128.03

Expiration Date 03/18/2020
e

By /

Miami-Dade Product Control

CHECKED BY:

WW.S,

DATE:
1=4 10/21/08

BY

REVISION DESCRIPTION

NO.

dba CAMBEK DESIGNER DOORS

MANUFACTURER DESIGNER PRODUCTS, LLC

702 TROY ST.
800-241-0525

RIVER FALLS, Wl 54022

>
23
A
wg 3
Z\./’End'
o
2< 25
1S e
n.gg;\
= 28
Llcy O
HZ =38
= o
£h5 egy
PO2 oRd
Sy 2%y
2”235
= O =
a;o a
% .
3xI
N
B
X a0

:

() (1
E«&t ”',, y.gs".
Ayt

SCHAEFER, P.E.

W.
P.E. NO. 4413




DRAWN BY: CHECKED BY:

E

EDGE_HINGE DETAIL

@)

5/16” X 1 1/2"
LAG BOLTS (1 3/8”
EMBED) (4 PER
BRACKET)

MIN. 2500 PSI
CONCRETE
SUBSTRATE BY
OTHERS

oy

MIDDLE HINGE DETAIL

2 ® Q)
A VIR
e@d%©
I:©1 l%_%%
L ®
o
@\II op o o
|
|
i il
U o o @0 :
|
| 24
1O /
l|© N /
|
0
- 1 | 31/16"

NN A

"

CLEVIS PIN
ASSEMBLY

STRAP |s——/{<

CABLED TO THE

%

\@
BRACKET

POST
STRAP

POST FOR
STORAGE WITH
POST WHEN

REMOVED. POST

CLEVIS PIN CABLE RUNS
THROUGH HOLES IN THE
STRAP, THUS SECURING
THE PIN TO THE STRAP
DURING REMOVAL.

MIN. 2500 PSI

CONCRETE

SUBSTRATE BY

OTHERS

_/\/_

STORM POST TOP END INSTALLATION DETAIL

OPTIONAL WOOD
s

PLATE (THICKNE
AS REQD)

WOOD SUBSTRATE BY
OTHERS (MIN. 1 1/2”
THICK & G=MIN. 0.55)
TO BE DESIGNED &
SECURED BY OTHERS AS

REQ'D TO SUPPORT END
LOAD FROM STORM POST.

(INTO_WOOD SUBSTRATE)

PRODUCT REVISED
as complying with the Florida

Building Code
NOA-No. 18-1128.03
Expiration Date 03/18/2020

5
By 7 e

Miami-Dade Product Control

POST IS CABLED TC THE DOOR TRACK FOR
STORAGE PURPOSE. ONCE POST IS REMOVED

FROM THE DOOR, THE POST, STRAP & CLEVIS
PIN ARE STORED NEXT TO THE DOOR.

PUSH NUT
RETAINER

(36) DRILL #17/32" X 3 1/2”
DEEP HOLE FOR PIN

PLACEMENT

STORM POST BOTTOM END INSTALLATION

STORM POST INTERMEDIATE BRACKET DETAIL

(1 BRACKET IS LOCATED AT EACH DOOR PANEL SEAM

LOCATION; 3 TOTAL PER BAR)

DETAIL

PIN IS SECURED TO THE POST FOOT ANGLE VIA
THE PUSH NUT RETAINER SHOWN SO PIN STAYS

WITH THE POST DURING STORAGE.

SEE GLAZING

e

N

35
34

32

33

16

33

—

§4e

¥
l

J

(INTO CONCRETE SUBSTRATE)

OPTIONS BELOW

GE 1200 STRUCTURAL
SILICONE EA. SIDE OF
GLASS

1/4” CONCRETE SCREWS
(1 3/4” MIN. CONCRETE
EMBED & 2 1/2” MIN.
CONCRETE EDGE
DISTANCE) (4 PER
BRACKET) CONCRETE
SCREWS SHALL BE ELCO
ULTRACONS, MW

RAMSET/RED HEAD
TAPCONS OR HILT

KWIK—CON I (HARDENED
STEEL OR S.S.).

STORM POST TOP END INSTALLATION DETAIL

1 1/2" BRAD NAILS

WITHIN 1 1/2" OF

ENDS & MAX. 3" O.C.

7/16" X 1" GLASS

STOP (DOUGLAS FIR)

7/16"

r MIN. BITE

TRIM BOARD TO I f
MATCH EXTERIOR ~_
PANEUNG 5MM EXTERIOR PLYWOOD
] 4 (2 LAYERS GLUED
EXTERIOR & STAPLED TO FRAME) Q:f}r
CHEMREX 948 ADHESIVE ke
FRAME MEMBER (CONTINUOUS) X
, SO 8
! 1 3/8” MIN. Seie
oy ety g
21/ =Z3i0 g
MIN. f:;; ’f;_a‘e}) =
GLAZING DETAIL %
GLAZING OPTIONS: sl

OPTION_1: 3/8" LAMINATED GLASS (1/8”
AN/0.09 SOLUTIA SAFLEX IIG PVB/1/8” AN)
OPTION 2: 3/8” LAMINATED GLASS (1/8”
AN/0.09 DUPONT BUTACITE PVB/1/8" AN)

W.R.M. WW.S.

DATE:
1=t 10/21/08

DATE

“E¥snne

BY

REVISION DESCRIPTION

NO.

702 TROY ST.

dba CAMBEK DESIGNER DOORS
RIVER FALLS, Wi 54022
800-241-0525

MANUFACTURER DESIGNER PRODUCTS, LLC

7480 150TH COURT NORTH
PHONE: 561-744-3424

PALM BEACH GARDENS, FL 33418

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)

ONSULTANTS

SCHAEFER, P.E.
NO. 44135

W,
PG

(“/

DRAWING NO.

1618

4
o
<
=
REV.
D

SHEET NO.

| 85"




/

SIDE_LOCK DETAIL
(MAY BE LOCATED AT EITHER
SIDE OF DOOR)

MIN. (4) 2X_ STUDS (SYP WITH

\—

S.6.=0.55 MIN.) REQUIRED BY OTHERS

5/16" LAG BOLT WITH MIN. 2 1/2”
FRAMING EMBED TO PENETRATE EITH

HOLE IN FRAMING)

MIN. 3/4" X 3 1/4” TRIM PIECE SECURED
TO WOOD FRAMING WITH NO. 8 BOX NAILS

ER OF '\

THE FRAMING STUDS (PREDRILL 3/16” DIA.

WITHIN 3" OF ENDS & MAX. 12" O.C. .

Z

4

18esil

ALY

]

DRAWN BY: CHECKED BY:
MIN. (4) 2X_ STUDS (SYP WITH 3/8" DIA. RAWL S
$.6.=0.55 MIN.) REQUIRED BY OTHERS ) POWER-BOLT, RAMSET RED  __] 2 1/2"|_ 7719 I T
3/4” MIN.  HEAD DYNABOLT OR HILTI MIN. | '6.688 0.438
5/16" LAG BOLT WITH MIN. 2 1/2” va \ KWIK BOLT 3 EXPANSION ' £ &
FRAMING EMBED TO PENETRATE EITHER OF ANCHOR (MIN. EMBED INTO 1.76 ' .
THE FRAMING STUDS (PREDRILL 3/16” DIA. < SUBSTRATE = 3") —————_ T -
HOLE IN FRAMING) ] OPTIONAL TRIM PIECE - 0.531
MIN. 3/4” X 3 1/4” TRIM PIECE SECURED \%‘ NOTE: CONCRETE MUST NYLON ROLLER WITH £
TO WOOD FRAMING WITH NO. 8 BOX NAILS 4 Z BE MIN. 2500 PS| AIS| STEEL ROD &
WITHIN 3" OF ENDS & MAX. 12" O.C. : : L 0.950 &
A : g [ 3
=1 - — E THICKNESS = 20 GA. — 0.500 ||Z
> A z>< S—DOOR SHALL EXTEND T (0.034” FINISHED) r
>< MIN. 1/2” BEYOND 8 ]
- ; Fy  STUCCO EDGE % ]
C0 i L ’
28
3.000 ——= 88 4
» —a 8
INSTALLATION DETAL (2) 3”_REINFORCING STRUT ¢ oz o
INSTALLATION DETAIL DIRECT TO FILLED BLOCK 8 195<8
DIRECT TO WOOD FRAMING OR_SOLID CONCRETE e R
1%} o Uy o
3/8" DIA. RAWL ' ) g |aPray
POWER—BOLT, RAMSET RED T 2 |exais
HEAD DYNABOLT OR HILTI ) P L Slzo~, 3
3/47 MIN. KWIK BOLT 3 EXPANSION 2.1/2 0.500 —/f" 3v5007t {— 0.500 o |82 u
ANCHOR (MIN. EMBED INTO _ MIN. | | S18° =
fuw A SUBSTRATE = 37 : T MATCH DRILL * * o > icg
: 5 o
< CONTIONUOUS NO. 2 B HOLES FOR ¢ ¢ § >
SOUTHERN PINE P.T. : — C90 CONCRETE BLOCK ~ 4.000 s0Rwm poST N 3.000 o
% OR MAHAGONY SPACER X;VQSUTME'S'CZE?ES (P);S;[ BRACKET & 2L
/ MCI)E.TISN/Z\L/ ZTR!\:A”DFE ECE Concrere o OHP > ke oo 5 : @
z | . CONCRETE
a% : N } | 4.500 —= é %%
% g NOTE: CONCRETE MUST || [<esxmrd bh W 3
: | BE MIN. 2500 PS| >‘q @ADAPTER PLATE 2| 283
F N 1= wl| 5.8
% ~ ! 2,416 |=— ol 2<%
. \ 1 | : 048 PRODUCT REVISED £ | Yalkgs
S 2 —hR=U. lyi ith the Florid . oHT
2 @%ﬁgoﬁ’n‘éﬁgﬁa m P DOOR SHALL EXTEND 1 -280 1 /] Bullding Code I b S2s
) = F : MIN. 1/2” BEYON 0 I Noa-Ne. 18-1128.03 wEEo"
: MIN. 3 1/2 - 1/ D o | £E 8zy
. T - =
WIDE STUCCO EDGE ® Expiration Date 03/18/2020 S — &88 o2
0.5 By £ : o 52872
22025 ® @ ® £ Miami~Dade Product Control é §;O &
- ~ = 3 . EEL
i : AL nerr
INSTALLATION DETAIL 300 ] =4 e Huzie
o _—““—luggALTLgngogEF”R\lL s SHIMMED TO FILLED BLOCK ‘ ] SO B =S
e ot S 57 6
SHIMER 1O WOOD FRAMING OR_SOLID_CONCRETE 20 cA-] S
PIN e S22 |9 3
= i+ Ao 7g
0.105 — 2625 |=— =20 g 2
N AN
@ SINGLE PIN HINGE Enn N
NP Bt SEC U ) N
i;f}”/i/; # ‘f"'(\ s
R vl
SHEET NO.

6 o 7




4/

TEM £ | ITEM DESCRIPTION | MANUFACTURER/NOTES RS
PARTS & HARDWARE 1.500 { ot BRTE:
- — 2416 = 1=4 10/21/08
1_|[ROWER NYLON W/AIS| 1045 STL. ROD _
2 [3° REINFORCING STRUT GALY. 80 KS| STEEL 0.105 ———IF— /| —R=0.48 0.680 Fen 0.083 .
3 |ADAPTER BRACKET MIN. 3/16" A-36 STEEL I D=05 S 4 g
4 |SINGLE ROLLER HINGE GALV. 36 KSI STEEL @ ® 0.13 ) ® + N °
5 |DOUBLE ROLLER HINGE GALV. 36 KSI STEEL e : ] }_ 9w N
[P - Lo ®
5 |BOTTOM CABLE BRACKET GALV. 36 KSI STEEL I ’ __C% 29 Q- F
7 |ADJUSTABLE TOP BRACKET CALV. 36 KSI STEEL 8 : = -
B |TRACK ANGLE (TAPERED) GALV. 33 KSI STEEL : - | ® S
9 |VERTICAL TRACK (HORIZ. TRACK SIMILAR) |GALY. 33 KSI STEEL _L @ ‘ z
10 | HORIZONTAL REINFORCEMENT ANGLE 2 X 27 X 136A 1.300 — - i f 2
GALV. 33 KSI STEEL : __/ —1{ 2000 :
11 |STORM POST 13/47 X 1 3/4 X 0.105” THICK| 20 GA. _ 3
. GALY. 50 KSI STEEL 0.500 : TRACK ANGLE 2
12 |STORM POST TOP BRACKET A-36 STEEL ] B
1.50 0.740 & ) 0.105
13 |STORM POST INTERMIEDIATE BRACKET _ |A—36 STEEL - r ‘L 1.000 i
14 |STORM POST INTERMIEDIATE A—38 STEEL OR = e N R ) g
BRACKET STRAP 1.80 - i -
15 |STORM POST BOTTOM END ANGLE A—36 STEEL 2.625 VD~O.35 #
16 |POST CABLE 90.125" GALV. OR 5.. @ DOUBLE PIN HINGE 4 I =T 0
17 _|SUDE Lock STEEL 1018 ZINC PLATED 0.290 0.079 _| oY)
MISCELLANEQUS FASTENERS 0.740 1.600 1.500 o s MIN -0 o
20 |1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW ALIGNED WITH HINGES PER ELEVATIONS 2.97 | 4 540 | g - - 0 g
21 |3/8-18 BOUT 2 AT EACH TOP BRACKET —— o~ n U)-CK S
22 {1/4~20 X 5/8 RIB NECK TRACK BOLT 2 PER TRACK ( FIELD DRILLED & INSTALLED) 013 DA:%O% @ BOTFOM CAB LE BRACKEF ‘i' % 5 % '(7)'-0 uN)
23 [1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 8 PER TOP BRACKET . %\j K v 1.625 8 20, 0
24 |1/4 X 1 1/2 HEX WASHER HEAD LAC SCREW 4 PER HINGE ) —— ~—1.000 8 nho A
25 [1/4-20 X 5/B RIB NECK TRACK BOLT 5 PER TRACK - 034 Ll w & & 20.563 | L(‘DJ LKL‘D" gg <
26 |1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 10 PER BOTTOM CABLE BRACKET ? @_ _ _g A . Y AR Nias B 0.875 R=0.31 é n‘x N:(l ‘I\‘
27  |1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 2 PER STORM POST INTERMEDIATE BRACKET EiiowL o
28  |80.031 X 2 1/2 CLEVIS PIN/CABLE ASSEMBLY 1 PER BRACKET; McMASTER CARR OB416A017 o ‘_\>/ \® [ L @/ ; i 0 o 0.89 5 % o) ED: S
30 |5/16—18 X 3/4 CARRIAGE BOLT 2 PER BOTTOM BRACKET CONNECTION 8 Q 9- U\ ) e o ] : nle E L
31 {5/16-18 SERRATED FLANGE NUT 2 PER BOTTOM BRACKET CONNECTION o < \( \‘ // , @ TRACK (@] & g =
32 |1/2° X B" CARRIAGE BOLT (GRADE 5) 1 PER STORM POST TOP ASSEMBLY R=0.19 LENGTH = AS REQ'D TO MEET DOOR — Q18 ¥
— — =
e s s W 2 FeR STorar oSt ToP ASSOMBLY HEIGHT & END ANCHOR REQUIREMENTS 0.570 0.160 5 B
34 1/4-20 X 3/4" F.H. MACHINE. SCREW 2 PER ADAPTER PLATE 5 g
35 |1/4-20 X SERRATED FLANGE NUT 2 PER ADAPTER PLATE & © © o @ STORM_POST E =
36 |#1/2° X 3 1/2° CLEVIS PIN 1 PERSTORM POST BOTTOM END ANGLE 0.469 ——-1 '-<- - ' = g
37 1/2" PUSH NUT RETAINER 1 PER BRACKET; McMASTER CARR §9BBO7A034 4 700 1 O 250 - g(
38 {1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 4 PER SUIDE 10CK : 2.375 . ) * l-i' =
(7) ADJUSTABLE TOP BRACKET | 5 5 Z| o3
1 Id Z
PANEL NOTES: | o ] 2000 ] 5 E|E° o
1. HORIZONTAL & VERTICAL FRAME MEMBERS ARE EDGE COPED, — 3000 2| 983
BUTTED TOGETHER & GLUED WITH TYPE 1 WOOQOD GLUE.} IN ADDITION, —1 2.000 f f lw— 3,750 —— W 5"’ g_l§
THE VERTICAL MEMBERS ARE SCREWED TO THE HORIZONTAL WITH 2 1.120 ' | STORM _POST o | <257
NO. 8 X 2" SCREWS ANGLED FROM THE BACK FACE OF THE DOOR. T 0.116 BOTTOM END ANGLE @ STORM POST TOP BRACKET = > Eg:
2. 5mm PLYWOOD IS STAPLED TO THE FRAME WITH 18 GA. X 5/8" ” ; T 4 II E% ;gg
X 1/4” STAPLES AND GLUED WITH DEGABOND 948 URETHANE ~—7.250 o :‘:(;5 .
ADHESIVE OR EQUIVALENT. M fnsD 35
= (&7 o
3. THE EXTERIOR PANEL/STRIPS ARE ATTACHED TO THE Smm sl © (14) STORM POST 1496 ol 3307 |- r 0.984 = z020
PLYWOOD AND FRAME WITH 18 GA. X 1 1/2" X 1/4” STAPLES AND INTERMIEDIATE BRACKET “ * z |38 #
CHEMREX 948 URETHANE ADHESIVE. } 1.800 —an . . 5 | . witt{Ee, 12 o
4. EXTERIOR FINISH WOOD (PANELS/STRIPS) USED IN TESTING WAS STRAP J J b Q;?ﬁ
NO. 2 WESTERN RED CEDAR WITH A SPECIFIC GRAVITY OF G = 0.32.73\ STORM POST (WIDTH = 0.750) _ f 0.157 SN
OTHER WOQOD SPECIES APPLICABLE FOR USE WITH THIS PRODUCT AR ' ‘“.efcg?,fg o
THOSE WITH A SPECIFIC GRAVITY OF 0.32 OR GREATER. INTERMIEDIATE BRACKET 7.087 %530 T e
5. ALL INTERIOR FRAME MEMBERS SHALL BE NO. 2 DOUGLAS FIR 0.47 ' N et i
WITH G = 0.49. 472 } 0.472 : ?.
6. IT IS THE OPTION OF DESIGNER DOOR TO INCORPORATE AN 00000 |20.394 ek g
INTERIOR FINISH FACE ON ANY DOOR. THIS FACE SHALL BE EQUAL PRODUCT REVISED { “s Fy
TO THOSE EXTERIOR FACES APPROVED PER THE DETALS ON THIS B emplying with the Florida sl &) ﬂ - NG
DRAWING AND BE SECURED TO THE DOOR IN THE SAME MANNER AS NOA-No. 18-1128.03 S N B
THE EXTERIOR FACE. THIS INTERIOR FACE SHALL BE AN ADDITIONAL o <+ < ﬁ%“h §\
LAYER AND SHALL NOT REPLACE ANY LAYER SHOWN IN THE DETAILS Expiration Datp 03/18/2020 0.551 L LB —
ON THIS SHEET. ALSO, ALL HARDWARE LAG SCREWS SHALL BE By I B s 0.965 ‘L 1618 1D
LENGTHENED TO MIN. 2 1/4" TO ALLOW FOR THE ADDITIONAL Miami-Dadé Product Control $0.276 SHEET NO.
THICKNESS OF THE ADDED INTERIOR SKIN. . @_S_L_ID_E_LQ_C_K 7 o 7




